ACT-ASSOCIATION OF COMPUTER TEACHERS MALAPPURAM
MODEL EXAMINATION - 01

COMPUTER SCIENCE

ANSWER KEY
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Transistors were introduced in
generation computers.

____ SBMEOUNB HMIISOYB-Ele1oeny
(SOMBMIIEROIEUB @l al@E)o|SIOTI@.

Second

Find MSD in the decimal number 7854.
7854 a)am HWMIAGE MVosU(@leel MSD
SN0

is the process of correcting errors in a
program.
B0} G(II(WIANOLI HDMQLEUB @ EYDMIM
(B @@6eNY

Debugging

Non graphic symbols are represented by using

(2a0lBM DG 2llaMEBROS (IDIMIUSlH:ElL6)003
DalCIUINHERM].

Escape sequence

Which one of the following is NOT an iteration
statement in C++?

a) while  b) continue
c) for d) do -- while




@9I6Y alO@IMA@I@3 C++ 6)el iteration Continue OR (b) 1
CAPNOATY’ @RLJOTD®) aRBO)?
a) while b) continue
c) for d) do-- while
11 |Any device which is directly connected to a
network is called Node
80} OMYOUBSSNGRISSE BMEIS 1
B6MBQLO 21V B ENM GO Dald@EMOTMQIo
____agm ailglesyom).
12 ... was the first network in the history of
internet. ARPANET 1
DMRBOMY 21 (@OTIOL! BRHRGODTD
OMQAUBL6IDI @M )
1 |Draw John Von Neumann architecture of computer.
@ZRI6M GAUI6M MIANS AflRINIMo Bl
&ngg(ﬂ@ﬂé D0 UDBERDs. Ceniral Processing Unit
Control Unit
Inpu Qutpit
I}csi:tc ArithmaticiLaghe Uit m'f:ll"':‘n 2
e Input Unit 1/2
* Central processing Unit / ALU / CU / Registers 1/2
* Memory Unit 1/2
*  Output Unit 1/2




9 Represent -38 in 2°s Complement form. (Use 8 bit |38 = 100110, 1/2
form) = 00100110
-38 XM 2's G0 {16AMR" @al@103@D 1’s Complement of -38 = 11011001, 1/2
(@ BIDWSl@l 068, (8 6nilg Bando Oale@IUTlecy®) (2’s Complement of -38 = 11011010, 1
10 Draw the logic gate for AND operation.
AND 6399]B0at16)(1} GIIEd]E: UG QUEQIENE A —
e z
B —_—
(Symbols only can be given 1 mark)
11 State De Morgan’s theorem Rulel
A.B= A +B
Wl @223B0MMY @00 (IO L) H:. OR 1
The complement of the product of Boolean variables is equal to the sum of
their individual complements.
Rule 2
W 4 1
A+B=A.B
OR
The complement of the sum of Boolean variables is equal to the
product of their individual complements.
12 Why is RAM known as volatile memory? The contents of RAM are lost when the power is switched off / power goes
RAM @pmudle 6&ac20] ag)mal@eq]symoy off
)OO HIENE? OR P)
RAM is a temporary memory
13 What are the advantages of flowchart? * Better communication 1/2
* Effective analysis 172
3qg2210@ZIOMF UBPEMEBBUB af)OAMIOBOWIET?  Effective synthesis 1/2
* Efficient coding. 172




14 The following identifiers are invalid . Specify its |a) White space is used 1/2
reason. b) First character is a digit / Does not begin with alphabet or underscore 1/2
a) Sum of digits b) lyear ¢) Special character / symbol is used 1/2
c) First.jan d) for d) Keyword 1/2
@969 |OQIM ©af)WGla0OIBUB @RAVIWZNUIEN.
&IO6Mo QUSRI E:.
a) Sum of digits b) lyear
c) First.jan d) for
15 List the fundamental data types in C++. Any four from the following
C++ 6.1 aD6N2OANREE (WINOES|IBHUB eﬂ(;g}}’ e char
621QRS:. e int
* float 4x1/2
* double
* void
16 Write four different C++ statements to increment |x=x+1; 1/2
the value of a variable x by 1. x+=1; 1/2
X ++; 172
X )M GAIGIWENISEITD 988 MIoe(EG@IS 1 ++X ; 1/2
33516.2|BEOINMB DalEINNHB6RMM MOl C++
CANRODNRIBUB ) PIDORE:.
17 Write the structure of a C++ program. #include<header file> / #include<iostream> 1/2
using namespace std; 1/2
8@} C++ GII(WIAINNP “LISM g) LIRS int main() 1/2
{
statements ; 1/2
return 0O;
}
18 List the data type modifiers used in C++ * signed 1/2
* unsigned 1/2
C++ ©.1 (WIQI 68Sq] GRIWlaN@ME:uB eilqy + long 1/2
6).21Q)i: * short 1/2
19 Write the syntax of switch statement used in C++. |switch(expression / variable) 1




switch egu@eadleng mIlagossm) ag) L3y

{

case constant_1 : statement block 1; break;

case constant_2 : statement block 2; break; 1/2
case constant_n-1 : statement block n-1; break;
default : statement block n; 1/2
}
OR
Example can be given 2 mark
(1/2 mark each for switch , case and break)
20 Rewrite the statement using conditional operator.
if (mark >=18)
cout<<”Passed”;
else
cout<<”Failed”; (mark>=18) ? cout<<”Passed” : cout<<”Failed ;
OR 2
@269 @MlElenam equIend’ &englaemad cout<<(mark>=18) ? “Passed”:”Failed”;
609JB0QA 9aleIUIla] @I ag)3@NS:.
if (mark >= 18)
cout<<”Passed”; ( 1 mark for using the operator ? :)
else
cout<<”Failed”;
21 How many bytes are required to store an array Number of bytes = size of (array data_type) x number of rows x number of
declared as int a[5][3] ? columns
=4x5x3
int a[5][3] ag)am AWlE0uTIlenss @oen = 60 bytes )
DalEWINOQSIOTIM OAZAS af)(@? (Formula can be given 1 mark)
( 60 bytes can be given 2 mark)
22 main( ) is an essential function in C++. Why ?




Every C++ program execution starts and end within main () 2
CH++ @8 635]5J3653SIMINUIDTD 63@} aNEB3aHB BIRHEN
main() . ag)EOBIENE ?
23 9 |Explain any two stream functions in C++. Any two functions with explanation or example
* get() - to input / accept a single character or multiple characters
aBO®EIR0 E6NE MI(Slo aN63UMIGOBHNO0] o] (string)
allai@leee. Eg: ch=cin.get(ch);
cin.get(ch);
cin.get(str,10);
* getline () - to input / accept a string through the keyboard
Eg : cin.getline(str,len);
cin.getline(str,len,ch); 2% 1
* put() - to display a character constant or the content of a character
variable
Eg : cout.put(ch);
cout.put('B");
cout.put(65);
* write () - to display a string
Eg : cout.write(str,10);
» gets () - to input a stream of characters including white spaces
Eg : gets(str) ;
( Names only can give 1/2 mark each. Maximum 1 mark)

24 | 10 |What is modular programming? Write any two The process of dividing large programs into smaller sub programs is called
advantages modular programming 1
BRIWRRINA EIA(UIAIEET ag)MNITB ag)TD)? Any two from the following
~BO@BIER0 @ENE REETRUB ) 3Y: * Less chance of error

* Reduces programming complexity 2x1/2

* Improves re usability




* Reduce the size of the program

Differentiate between string functions strcmp() and

strempi( ). strcmp() is used to compare two strings 1
strcmpi() is used to compare two strings ignoring the cases 1
@6NE MY(S1673 aNE3aUMYBBI® strcmp() @3o strcmpi()
QYo @2ANTD IR0 62IQRD:
What do you mean by argument of a function? Arguments are the means to pass data from the calling function to the called
Explain formal arguments. function. 1
Formal arguments - the variables used in the function header 1
60} a06BaUOTY BRHBUIOANG af)IMN® )61
af)TMIENT @RB@NAMILEHIMD? BGaNIBADTD
@RBUNREAMRISO8H6)0 5] QllaIdlee)s:.
Briefly describe the characteristics of Wi-Fi. Any two points from the following
*  Wireless Fidelity
OOO-06a0 - WIOS MVIRIAUMNIEUB U608 * Used for short distance communication
©6)05] Qllaidleeys.. * Line of sight between communicating devices is not required 2x1

* Data transmission speed is up to 54 Mbps
*  Wi-Fi can connect more number of devices simultaneously
* Used for communication upto 375 ft

Write any three features of the fourth generation Any three points from the following

computers. * Microprocessors were used
* They are also called microcomputers.
MOLId0 MERINOWILRSS BMIRSOIOSIOS * They use Very Large Scale Integration(VLSI) technology.
aBO@EIeI30 @AM MANGUHUDE:UB ) 93OS, * A microprocessor consists of millions of transistors and components.
* Semiconductors were used as main memory. 3x1
» This generation saw the development of pointing devices like mouse
and handheld devices.

* Fourth generation computers were more portable and reliable.

Perform the following number conversions :




(a) (34) s to decimal

(b) ( ﬁo)fg 1tc1> binary | a.(34) s = 281 }
C to octa
@969 m(v(?n'](ca'lceag(m 272)(mogdaouz's al@lUB@™mMo b.(29) = 11101 1
6.21QRS>. c. (1101011),= 1538
(a) (34 ) s to decimal
(b) (29) 10 to binary
(c) (1101011),to octal
30 Write notes on a.ASCII - American Standard Code for Information Interchange 11/2
(a) ASCII - uses 7 bit to represent a character
(b) Unicode b. Unicode — used to represent characters in almost all languages of the world
- 16 bit code 1172
B30lo] @QI00LNE
a) ASCII
b) UNICODE
31 Explain any three number systems. Any three number systems with explanation
Decimal Number System
a@e@®slego 3 mmMud Milaueasud ailuekle:@leeds. * Base 10 number system.
* It consists of ten symbols 0,1,2,3,4,5,6,7,8, 9.
Binary Number System 3x1
* Base 2 number system .
* It consists of two symbols 0 and 1
Octal Number System
* Base 8 number system.
* It consists of eight symbols, 0, 1, 2, 3,4, 5, 6 and 7.
Hexadecimal Number System
* Base 16 number system
* It consists of 16 symbols 0,1,2,3,4,5,6,7,8,9,A,B,C,D,E,F
(Names only can give 1/2 mark each )
32 Differentiate compiler and interpreter . Compiler - translates the whole program in a single run / translates the whole
program at a time 11/2
SHMITILIN} MRB(ISO @eRleRss Interpreter — translates the program line by line 11/2

( C++ compiler , BASIC interpreter can give 1/2 mark each)




QUDOMVo af) PR,

33 List different phases in programming. Any six from the following
Problem identification / Identification of the problem
etowndlsedlong aflallw ~eISEERud ag)33e:. Preparing Algorithm and flow chart
Program coding / coding
Translation 6x1/2
Debugging
Execution and testing
Documentation
34 Write an algorithm to find the sum and average of |Step 1 : Start 1/2
three numbers. Step2 : Input A,B,C 1/2
Step3 : Sum=A+B+C 1/2
3 MMINIEEIOS @IHQo UBEIUBEIWZo H:06TIAUOM] | Step 4 : Avg=Sum / 3 1/2
88 GROEBENICIDo af) PAORE:. Step 5 : Print Sum , Avg 1/2
Step 6 : Stop 1/2
( Variables A,B,C, Sum, Avg can be changed)
The following algorithm can be given 2 mark
Step 1 : Start
Step 2 : Input three numbers (1/2)
Step 3 : Find sum (1/2)
Step 4 : Find average (1/2)
Step 5: Print sum and average (1/2)
Step 6 : Stop
35 Distinguish between keywords and identifiers. Keywords
* Token that convey a specific meaning to the language compiler 172
SIBAUBWIe Haf)WGla0@NOYe @AAILRSS QY@M e Reserved word 1/2
) LIORLD>. * Eg :break, for, continue etc 1/2
Identifier
* User defined words to name different data elements 172
* Identifier is a sequence of letters , digits or underscore ( _) 1/2
* Eg:sum, numl ,Avg_ht etc 1/2




36 What is the role of relational operators in C++? Relational operators are used to compare two numeric data 1
Distinguish between == and =. == : Relational operator / checks whether the values of two operands are
equal or not 1
C++ @3 GlGRIHEM @D 6300JBNBRYMIlO] alss = :Assignment operator / Assigns value to a variable 1
a)®I6N ? ==, = af) MU @2AERSS AU@(OMo
ag)(0y?
37 a) Which loop in C++ can be used to ensure that
the body of the loop will surely be executed at least
once. (D)
b) Consider the code given below and predict the a. do while 1
output. 2)
for(inti=1;i<=9;i=i+2) b.1379 2
{ (1mark for1 357 9)
if (i == 5) continue;
cout<<ij<<” “;
}
a) ela] eenIoUl BE3 MAIEMeO@EsILI}
MBAIaGlEmnORMY ©0a]ILMNRM @EOMIERSS
eRaflomg eald agwionse. (1)
b) 236S MEISIVIHSS ELIW al@l@uodUls]
BD5a)3S (U2l Ee)d:.
(@)
for(inti=1;i<=9;i=i+2)
{
if (i == 5) continue;
cout<<j<<” “;
}
38 Distinguish between break and continue statements |break statement transfer the program control outside the loop / switch
in C++ OR
break stops the loop without checking test expression 1172

C++ eel break , continue ag)(ml EROODGIBHUB
@e2leR8S QAIDOMVo af)O) ?

continue statement transfer the program control to the next iteration
OR

10




continue skips remaining portion of the loop

1172

39

Complete the following C++ code to display even
numbers from 2 to 100.

for (___; ; )
{

cout<<ij <<”\n”;

}

2 3@ 100 QUOE@BS DES (MIo6U(D>UB
(@138l flesnm@ilal @milgss C++ esouller
Qil538a10@ RINo alj@lofleens

for (___; ; )
{

cout<<t <<”\n”;

}

=2 OR

i<=100

i=i+2 OR 1i+=2

40

Compare switch statement and if else if ladder

switch equ@genag’, if else if ladder agarlas
@ICAfo 6)2IQPD>.

Any three points from each

switch

If else if ladder

1. Permits multi
branching

2. Can be used for
checking equality

3. case constant is
character or integer

4. Use default when no
match is found

5. break is used to exit

1. Permits multi branching

2. Relational and logical
operators can be used

3. Can compare against a set of
values

4. When no condition is true ,
else block is executed

5. Automatically goes out from
else if ladder.

3x1

11




41

10

Suggest most suitable built-in function in C++ to
perform the following task.

a). To compute the value of 53
b). To find the number of characters in the
string “KERALA”.

). To convert the character ‘M’ to ‘m’.

@969 ]OQIM WAB2REBBUE MIBIaSleanmM@Iay C++
@3 BRI BPMIEWIWIAI® 6Nnil@dS - 0 -
063U MBERUBH6)H:.

a) 5° @enallsSleeymolay
b) “KERALA” ag)em mi(Sleasleel
@REHOEBRRIOS af)fRe B6MIailSleeym@sla).

) ‘M’ a)M @REH®o 'm’ BRES) AIQIMN@IM.

a. pow() / pow(5,3)

b. strlen() / strlen(“KERALA”)

c. tolower() /tolower(‘M’)

42

10

Name the different methods used for passing
arguments to a function. What are the difference
between them.

B0} aDEBHMIGRIEE @RHBUIODNFIBUB HEOBAINIMD
DIV BN AU@IMI® Bl BB BODEJ0 ?
@O OAAERSS QAUDOMVo af)3RE:.

Call by value
Call by reference

Any two points from each

1/2
1/2

Call by value

Call by reference

* Ordinary variables are used

¢ Reference variables are used
as formal parameters.

12




as formal parameters.
Actual parameters may be

constants, variables or

Actual parameters will be
variables only.

The changes made in the

formal arguments do reflect

expressions. .
in actual arguments.

* The changes made in the
* Memory of actual

arguments is shared by
formal arguments.

formal arguments do not
reflect in actual arguments.

* Exclusive memory
allocation is required for
the formal arguments.

2x1

43 | 11 |a.Identify the network topology in which all nodes |a. Star Topology 1
are directly connected to a hub or switch. b. Any two characteristics of star topology from the following
(1) * More efficient compared to bus topology.
b. Write any two characteristics of this topology. * Easy to install.
2) * Easy to diagnose faults.
* Easy to expand 2x1
a. dMYUBSSINOLI af)RJO EMIURB:BIe BMEIS a06n] |« Failure of hub/switch leads to failure of entire network.
20O MVilg] MIGWI HEME:S H)2IQRM @SICaJo8ed] |. Requires more cable length
aB@96N)?
(1
b. 0D @S98 |I8=IWES aBO®ES|RI0 @6NS
(1BD@YDDIHUB ) 9IRS
(2)
44 11 |List and explain any three types of networks based |Any three with explanation or example from the following
on span of geographical area. PAN - Personal Area Network
- network of communicating devices of an individual
@ilni@y@ @reslmunomadssl ago@eleie 3 @@o - Eg: devices connecting using bluetooth / USB / infrared devices
Mg ABHe)H:u3 Qlluodlo@leess. LAN —Local Area Network
- network within a room or building 3 x1

- Eg : network in a computer lab

13




MAN — Metropolitan Area Network

- network within a city

- Eg: cable TV network
WAN — Wide Area Network

- network across a country or continent

- Eg: ATM, Railway Reservation system , Internet
(Names only 1/2 mark each )

45 | 11 |List the advantages of computer networks Any 3 from the following
* Resource sharing
BMIRSB OMY QUBHNBSIOS NPEMEBBUB ) FRONE:. *  Price performance ratio
¢ Communication 3x1
* Reliability
* Scalability
46 | 12 |Identify the internet service a. E-mail / Gmail 1
a. Fast and efficient mailing system b. Search Engine / Google / Yahoo / Ask / Bing 1
b. Looking up related data using keywords c. youtube 1
c. Use of mobile and web based technologies to
share videos
HRBOME BAVAUMo aBODMN @B Ol@s:.
a. GO BHIREHANRAIR Aoy
aVoilwomo
b. SleIBUEUB Dale@IUIl ] @RMEENIMW (WIQ
RdeMl@d @le@mailay
C. ©2066NITD , OHAUENT @RWIHOI® MIGELD B
Q308 9ale@Iuils] Allwleos:ud share
621QRMM@IaY
47 | 12 |Computers and its network now play an important |Any three from the following
role in our daily life. List various threats faced by e Computer virus
it in the cyberworld. *  Worms
* Trojan horse
SMUPSOBBJo RO HMQ QAUBLE MANIOS * Spams 3x1

14




063MoRIM HA@OMI@D (IWIM als QlaOleeymy.
OOTVENIA GRIdGO) eM@IS}aM allaflw Elauemleud

a@BO®Eo 2.

* Hacking

* Phishing

* Man in the Middle Attack
* DoS Attack

48 | 12 |E-mail messaging system has several advantages Any three from the following
over conventional mail system. List any three . Speed
advantages
* [Easy to use
~IRMIEIN® HBTIT MlgyEEmEeIU -0aDws * Environment friendly / Do not use paper or pencil 3x1
MVUEMURREHT@ MVoNUlWIMN@DIN MleIW] * E-mail can send to multiple users
(NPEMEBRSIENE. aBOMB:IRII0 DIMY 1IEMEBRUB . ..
N Provision of Attachment
* Anywhere any time
49 3 |a) “e-waste is hazardous to our health and a. E-waste contains toxic substances like mercury, lead, cadmium etc..,
environment”. Justify the statement. (2) which may cause health problem 1
b) List and explain commonly used e-waste E-waste will contaminate / pollute the soil, water , air 1
i ?
disposal methods? €) b. E-waste disposal methods
Any three with explanation
* Reuse — Second hand use
a) “e0-moeflnisarud menyes “’T@‘g?"“’f“f‘”}m@ * Recycle — making new products from old one
ROl B0 @RAIESEEAIENT . (IMIMIAUNHD 3x1
MO @ 636 ) * Incineration — burn at high temperature
b) MLIWIEEMIV BaleWIUIBERM e-;deilmy * Land filling — buried in the soil
Tld@odeam lmileasemdlaf allvodledlone. (Names only can give 1/2 mark each . Maximum 2 mark)
3)
50 8 |a) Define an array. Write the syntax for array a. Any one from the following

declaration. 2)

15




b) Write the initialization statement for an array
num with the numbers 29, 36,57, 78,94. (2)

c¢) If AR is an array, which element will be
referenced using AR[4] ? @)

a) 803 @PEO MIBOLallee)s:. @GO UlgENeY
mIlaBOBMS a) R3S, (2)

b) 29, 36, 57, 78, 94 ag)aM3l 5 MoEU(EUB DalE@IUI 4]
num ag)aM @GO HOMIHOSLIMY 6).41QYIMSS
CANRODNR af)PIE:.

2

c) AR a@ @nco apeemss1ad, AR[4] aj@onsom element &m
Myafloflesam 1)

* An array is a collection of elements of the same type placed in
contiguous memory locations.

* Arrays are used to store a set of values of the same type under a single
variable name

Syntax of array declaration
data_type array-name [size] ;

b. Any one from the following
e intnum[5] = {29, 36,57,78,94 };
e intnum]|]={29,36,57,78,94};

(int num [5 ] ; can give 1 mark )

c. 5" element

16




